| S.N. | Question

1. Seeds of soybean contain about: RSN & §io § BAT — dd T YA BT fhd-l Jm4m B & ?
(A) 20% oil and 20% protein 20 % T (B) 20% oil and 40% protein 20 % Ol TG
Td 20 % UICH 40 % UIEH
(C) 40% oil and 20% protein 40 % (D) 40% oil and 40% protein 40 % Td T4 40
e T 20 %o UICH % U
2. Which of the following is not a mineral nurtient? == # ¥ 31 &1 7@ Ul & foly 3MaWS @ Tel & ?
(A) Magnesium FHfRRM (B) Sulphur Terdp
(C) Carbon CUCR| (D) Iron e
3. Removal of excess water from the field is called: Wd # ¥ 3@ UM & &R ST R HeT S g 2
(A) Drainage EEAREIN] (B) Micro-irrigation §&d (qun) Riame
(C) Absorption CENIU (D) Adsorption R
4. Conservation tillage includes: F=fafad # & & &1 T FroaeH feelal 9 7 ?
(A) No tillage 9T —uRepRor (B) Strip tillage @R Y—uR@RRT
(C) Minimum tillage  =[TcH J—uR@BRoT (D) All of these W I
5. Average rainfall of India is: “Rd # ufq a¥ sirgas fora aof 2t & 2
(A) 119 cm 119 IR (B) 119 inches 119 €4
(©) 119 mm 119 fAelmieR (D) 119 ft 119 §e
6. Which among the following crop has C, assimilation pathway? fr=fefad & 9 f&a vaa § Cy
IR BT IR B |
(A) Moth bean HI8 (B) Pearl millet  aoRT
(C) Rice g (D) Soybean BSIRIE
7. Organic carbon is a measure of Sifd@ P $ 41 YA & b9 0T FT N ©
(A) Available nitrogen in soil H# H (B) Available phosphorus in soil % # Iuc=
U T DI HA BRBRA B HH
(C) Excess of carbon in soil 4 # & (D) Excess of iron in soil 4f # €z &1 agard
1 Tgar
8. Dhingri is a variety Of ---------------- . el &1 v fefoRed § 9 few 9 R 2 W Ry fefafaa |
3 fo @ fee g 2
(A) Radish it (B) White rose e A
(C) Mushroom Y (D) Aonla el

9. Which of the following type of barley is particularly suitable for brewing purpose? Ffefad # @
fort UPR FT 'S IRE T B fordl 3fdd Iuga g ?
(A)One row  Ud Hfid (B) Tworow I dfdd
(C) Four row @R dfdd (D) Six row B ufdd

10.  Which of the following criteria of irrigation is most acceptable to farmers: f&am g/ RiwE & ford
e ATIds B W SUARN / BRIR I 71T € 2

(A) Soil moisture tension ¥ # T @I (B) Water potential of a plant Uer # 1 @ w1
H=AT

(C) Critical growth stage Ul /%ad & (D) Pan evaporation U arsigeoT
Pl IFaell

11. A short duration crop in between two main season crops is termed as: & & GHaAl & /9 & I=RIA
# o 9§ UG aIe B S G HEl o g ?
(A) Cash crop Fhal B (B) Intercrop 3 Bl
(C) Companion crop  \g—Hdd (D) Catch crop &4 %ad
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Plant Pathology is the branch of agricultural science which deals with the study of: wic Yeficrst @t

e Y fae & b favg 9 & ?
(A) Insects e (B) Fruit cultivation el &l
(C) Diseases ~ dmRa (D) Crop cultivation 9 &l

Which bee species is used for honey production in north India? S&R “Ra ¥ #gFad! @1 fod yorifer &1
TN W8S e & ford fopan e & ?

(A) Italian honey bee IeIfera FeHaw! (B) Dumna  g&
(C) Asian honey bee TR ALl (D) Drone bee §F #a
Azotobacter is a kind of ----------—--- TlleISdeR Th YhR Bl ... g7?
(A) Chemical fertilizer IMEMG RS (B) Biofertilizer ifd® @rg
(C) Herbicide TRUTIR AR (D) Insecticide ~ @RS
Sprinkler irrigation is suitable for: &9 YBR @1 a1 & ford waawT fafyr & Riarg Iwgad & ?
(A) Clay soil ~ gmce (B) Clay loam soil TMee — Iqg e
(C) Sandy soil el fredt (D) Loamy soil ERERECC

ICAR-Indian institute of Wheat and Barley Research is located at: 9Rd $fY srgde™ uRyg &1
WRAR T Ud Il A des bel e § 7

(A) Hyderabad 2&vm@Te (B) Lucknow @&
(C) Nagpur AR (D) Karnal AT
Which among the following is a variety of guar? =faRad # & &9 4 R 31 f5e § ?
(A)GFC 4 <t 1% 41 4 (B) HG 365 U7 ST 365
(CO)BG2 d@is2 (D)PS16 W T 16
Chairman of Neeti Ayog of India is: RT TREHR & ‘I AT &7 FAURT HIF BT § ?
(A) President Ut (B) Prime Minister TR
(C) Union Finance Minister &= fid (D) Union Agriculture Minister &1 & 71
el
Clusterbean is also known as: ‘@eRexd I fmferlRad # & {6 99 & YaHRT o1 8 2
(A)Mentha  UI<HT (B) Celery  ¥orl
(C) Lucerne A (D) Guar AR
How many kanals are there in one acre? & e (4000 T Hiew) # e ‘@t 81 @ 2
(A)5 U B)6 ©
©8 e D)10 =9

Which one of the following pulse crops is used as pulse, a fodder and a green manure crop?

fyefolRad & @ 59 B BT ISUANT Goled, IR U9 s—%1g & ®U H fhar o g ?

(A)Moong g7 (B) Guar IR

(C) Pea HR (D) Cowpea  @ifean
Which cereal is non tillering type? 3= ¥ ¥=fRq ford Bt H Foal Tal &0 ?

(A)Maize wa@l (B) Wheat g

(C) Barley it (D)Paddy &M

Which of the following crops is most sensitive to water logging even for a short period?
frfoRad # & & W wod Ta—"R1G 3 Ul T e HagTeld @ ?

(A) Wheat 7§ (B) Maize !

(C) Cotton ~ &UN (D) Sugarcane  $@
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Pisciculture deals with: ‘fiefi@eaR &1 G= feforRea § J feag A 2 2
(A) Plant disease management  GERFT (B) Vegetable cultivation ufsral @t @t

LK

(C) Fish farming LIRS (D) Fruit trees Bl BT W
The cow without horns is called as ------ f3T T aTel T BT R FET ST € 2

(A)Bhodi  #fer (B) Gussail  THd

(C) Frakal  wrdet (D) Drakal S|
Which of the following is a bulb crop? f=ffad # & & vud &I ‘98 GHA Hel Sl & 2

(A)Eggplant &4 (B) Potato 31|

(C) Groundnut  §T%ell (D) Onion @I

Which among the following wheat species is used for making macaroni products? #&RIFI T&RI
& ford Tt UR & 15, BT WA T STl &
(A) Triticum aestivum  ffcdd sR<iaA (B) Triticum durum  f¢aq g

(C) Triticum dicoccum fefeam sgdIHn (D) Triticum turgidum fgfcaH cxailen

Shelling percentage of groundnut is:  Hell & I (RIRET) $T G 4R G0Well & Fo AR BT AT
e gfcrera grem & ?

(A)45-50% 45 — 50 Hfoer (B) 65-70% 65 — 70 Ul

(C) 40-45% 40 — 45 wfea (D) More than 70% 70 U 9 rferd

Which of the following herbicide is recommended for control of weeds in berseem? — f=ifeiRad o
¥ 59 TRUGAR RN &1 W e H e S g 2
(A) Stomp 30 EC W 30 30710 (B) Butachlor 50 EC  &feraak 50 2010

(C) Goal 23.5 EC et 235 010 (D) Basalin 45 EC qrTfer 45 F0¥T0

Which among the following is a farmers’ cooperative agency? frfelRad # & @ i weern f&ami ot
TEPINGT HelT & 2

(A) SAU T 3 Y fAwfderey (B) IFFCO  gwa!
(C) Monsanto ~ #r=iw! (D) FCI 9RAT @rer A gfeas BRAd Bicergor
pr-3mfea fafifes
Which among the following is a variety of Arhar? fF=foRad # ¥ sRER @ foret o 4t @ 2
(A) Parasmani  UR&H (B) Manak BIEET
(C) Parvati BIGTs) (D) Pusa Daal  q&T 311
What is lactation period of Murrah buffalo? & % ay # o fba fad qg < & ?
(A) 200 days 200 fad (B) 250 days 250 fad
(C) 300 days 300 fad (D) 350 days 350 fad
Which among the following is an insecticide? ~ F=feiRad # & BcARG S 1 & ?
(A) Rogor IR (B) Macho T
(C) Azotobacter TSICIddey (D) Captan ~ ®UcH

Recommended seed rate (kg/ha) of dhaincha or sunhemp for green manuring is: 0GR & forl ‘d@r
Fgar A @1 i SRR AT @ for) foem febell €61 @) arawedn gl & ?

(A)20 < (B)30 @
(€)40 =i (D) 50 uaM
One hectare is equal to: U@ FacaR MHfRad ¥ ¥ fhaa TR & ?
(A) 1000 m*> 1000 7 Hiex (B)Onekm % foamiex
(C) 10000 m* 10,000 @ Hex (D) Five acres U@ U&s
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Kashni/Chicory (Cichorium intybus) is a weed mainly associated with: ‘&R e ERUTAR 6T

T 69 B W & ?
(A) Maize D! (B) Berseem  &X¥M
(C) Mustard sl (D) Mustard &

Rapeseed-Mustard group of crops belong to which of the following family? — &R@l Ifd & el B
T Ul & b uRaR 4 B ?

(A) Papilionaceae uferam (B) Compositae HARTE

(C) Cruciferae B (D) Caesalpinaceae Rraau==il
What is the most important source of irrigation in India? ¥Rd ¥ R¥=1E &1 9&1 910 HH A1 8 ?

(A) Tubewell UG (B) Pond  dr&®

(C) Wells B3 (D) Canal €l /7R
Haryana is divided in to ----------- agro-climatic zones. NIV U<¥ &I fha W-dHegHcd w4 4
fearorer fepam T & 2

(A4 TR (B)6 T

©7 (D) 10 =¥

Which among the following is the most fatal disease of chicks? ~ f=feiRed # & dF & R il
@ & 9=9) & fog Hew waeE RN § 2

(A) Fowl pox 1 w=& (B) Small pox  =a®

(C) Fever SR/ @R (D) Ranikhet @

Most of the plant diseases are caused by: Uil @1 o arell foMIRET @1 Fraferad & & S A1 SRV a9
eyl § ?
(A) Bacteria TR (B) Fungi BhHal

o

(C) Virus IRRE (D) Nematodes 7

Deficiency of which nutrient element is generally observed in direct seeded rice in light textures

soils:  ge@!/ el a1 # o @ Wl 358 e W Ukll & for) mawya e dc @1 HH1 SR Uil A © 2
(A) Iron e (B) Manganese  H<THN
(C) Potassium  UieIiRm (D) Zinc NG

Jangli Palak (Rumex sp.) is a weed associated with crops during: "SiiTcilUlele’ TRUTIR DT FHH
frtforiad & &1 for g o Hoell W & ?

(A) Rabi season REINES| (B) Kharif season &% %

(C) Summer season ¥ g (D) Spring season 9 g

Headquarter of Rainfed Authority of India is located at: ®Rd @I IR Wil 3MRARE BT JEAR Fel
Rerd & ?

(A)New Delhi ¥ foceft (B) Jodhpur SRR

(C) Indore R (D) Imphal ]
Which of the following crops does not belong to family Leguminosae/Fabaceae? f=foRad # &
fore wel BT T U @ URAR oA JfrdT Hawdl ¥ el © 2

(A) Chickpea ERll (B) Berseem ERIC

(C) Lentil BN (D) Sunflower RO
Which one of the following microbial agents is commercially exploited as biocontrol agent?

frfoRad ® & e STao] &1 JanT Sifdd dicrerd sferal Sifade I TR1d a4 & fordl far @ g 2
(A) Penicillium notatum UfRiferm dreren (B) Bacillus subtilis ~ IIeld ECTsford
(C) Trichoderma viridiae — TTSHISIAT (D) Sclerotium rolfsii  FHeRIRRM JeTmaTg
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Foot and mouth disease is mostly found in R T 48 @R dHRI &1 T g 4 8 ?
(A)Horses  ©1s (B) Birds ~ ueft
(C) Cattle 7y /e (D) Pigs R

The downward movement of surface soil water is known as: 9 @I §a8 ¥ <l @ 3R Ul & YaE Bl
R HET Sl & 7

(A) Infiltration 3T R (B) Percolation  fdRAT/ UR@dA

(C) Leaching ofifeT (D) Wash out gl
Solid portion of earth is called: WAl & 3/ e 1 T FeT Wl & ?

(A) Lithosphere forNemRR SRS (B) Hydrosphere TRSRDIR errsd

(C) Atmosphere qgHSC (D) Thermosphere  eRARGRR TR
The seed of mushrooms is known as: T & 51 $I FI1 $8T ST § ?

(A) Culture BT (B) Button dcq

(C) Seed ball s 91t (D) Spawn M

How much quantity of Kkoya can be made from one kg buffalo milk? & foell ¥ & gy ¥ aia
fepereT @I (@) SFRIT ST W 27

(A)200 g 200 I (B)300g 300 UM

(C) 100 g 100 9T (D)400 g 400 UM
For transplanting of pearl millet (bajra) in Haryana, optimum age of seedlings is: ua@ # R @1
R @ fory fober AT @1 dig @ @) RyerRer @ g 8 ?

(A) Two weeks I 9@ (B) Three weeks o 9@T®

(C) Four weeks IR 9w® (D) Five weeks RICEGINE

The most common method of irrigation practiced in India is: “Rd % RiaE & o)) Wew e &= @
fofey wivT # g o & °

(A) Flood irrigation ~ drg qie Rfarg (B) Corrugation method ~ ¥fra Ri=mg
(C) Drip irrigation  §5—4g /a1 /TUH (D) Sprinkler method e Riarg
. g

Which among the following is a variety of basmati rice? =fafRad § & ‘T g9 @ foed / Wil
P W7 ?

(A) HKR 46 Ta®3R. 46 (B) PR 121  diaR. 121

(C) CSR 30 ¥ITHAR. 30 (D) Sangam  |TH

Recommended seed rate for kharifirainy season mungbean is &% /d61 Fg # 47T &1 faie & ford
4151 @1 fopaet A= @ RieRer @ T8 7 ?

(A) 15-20 kg per acre  15—20 fdar ufa (B) 25-30 kg per hectare 25-30 il Ui gacaR
Ubs
(C) 15-20 kg per hectare 1520 fobell ufer (D) 10 kg per hectare 10 fobell fd g
FIR
Golden rice is a rich source of: eed g’ (Tl &) H FrfeiRad H & foqar! A1 ed wg Wkl § ?
(A) Vitamin A fgerf= v (B) Vitamin B faeif#= €t
(C) Ascorbic acid TIHRAG RIS (D) Vitamin K~ faeIfiq &
Common wheat (bread wheat) isa: 3¢ §TH # SUYE g, &1 T foRad A 4 fed § ?
(A) Diploid feras (B) Triploid et
(C) Tetraploid ~ CcRUAITS (D) Hexaploid ~ zaUiITe
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The book “Horse Hoeing Husbandry” was written by '8 887 e¥dvedl’ & J&id fooe fordl off ?
(A) Jethro Tull SIeRT T (B) Arthur Young  3mR ¥
(C) Masanobu Fukuoka #IIq Ha3idT (D) Liebig farfaer

Which of the following roots are of permanent type on sugarcane cane setts? @ # ford JaR & Ig
Il wY 9§ W B ?

(A) Sett roots T weh (B) Shoot roots T o
(C) Prop roots WY wcq (D) All of these ~ SWRIad wff
One ton (tonne) is equal to  T& ‘e R fha ‘fhal & SRR &rar 8 2
(A) 100 kg 100 feretrm (B) 500 kg 500 foarm
(C) 1000 kg 1000 feretram (D)2240 kg 2240 foharm
In pH scale ‘p’ indicates.  pH ¥bd # ‘p’ f¥aT F@d & ?
(A) Potenz ~ Ju (B) Place @M
(C) Pure TR (D) Plants U
What is chemical formula of Bleaching Powder? favsia 9ol &1 IR 93 &1 & ?
(A) NaHCO3 (B) N32CO3'10H20
(C) CaOCI2 (D) None of these ~ SWRIdd 1§ el
What is the chemical formula of Lead Nitrate? oS EgT B YA ¢ -
(A) PbNO, (B) Pb (NO),
(C) Pb NO; (D) Pb(NO;),
Name the acid present in Tamarind ? Ml ¥ foeme ot B9 |1 & 7
(A) Oxalic acid ~ sifqiferd et (B) Tartaric acid TR 37
(C) Citric acid USld e (D) Lactic acid dfdes arvd
Which metal is present in amalgam &9 ¥ 1q EHI 3T ¥ Bl & 2
(A) Zn (B) Fe
(C) Hg (D)Cu
What is chemical formulae of Benzene ?  §WfiF &1 TRIM& G 41 § ?
(A) CHy (B) C:H,
Who gave modern periodic table 2 3Tefa amdd frm frem faa ?
(A) Doberiner ~ SfRER (B) Henery Mozle &R Aol
(C) Newlands ~ eied (D) Mendeleef Heolm
What is the full form of ATP ? Toclodio &1 qRT T @1 & ?
(A) Acid triphosphate TR TEHIGHS (B) Adinosine triphosphate 3fSIRIM SEHRGT
(C) Agro triphosphate T ZTEHRGE (D) Adino triphosphate 31T gIEWIET
What are fossil fuels? Saredl oM &7
(A) Coal GO (B) Petroleum  Ugiferam
(C) Diesel ~ SIoidt (D) All of these SWRIGT Wt
What is the cause of acid rain? 3Felld a9l BT HRU 8 ?
(A) HoSO4 (B) HNO;
(C) Both A and B (D) None of these SWIGd # ¥ IE el
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What percentage of methane is present in Biogas ? IR # e wfoerd #i9 2 © 2

(A) 25% 25 UfoRId (B) 50% 50 Ufcerd
(C) 75% 75 wfrerd (D) 100% 100 Hfc=rd
How much voltage is supplied to domestic circuits ? &I ¥ U fda alee fag)d & Fwlg @1 o @ ?
(A) 180V (B) 220V
(C) 440V (D) 1100V
Ammeter is used for measuring:- Hilex & 9T AT o7 ® 7
(A) Resistance TfeRTer (B) Power [EERIMIES]
(C) Voltage fovaraR (D) Current  fdaeRT
Which gas is filled in electric bulbs? ~ ¥ed H ¥ W drefl 49 & ?
(A) Oxygen il (B) Argon KIUE]
(C) Nitrogen RESISE] (D) Both B and C A o 3R o
Coulomb is S.I. unit of :- T 59 FT THATE AHS © °
(A) Resistance  UfcRI (B) Current CIN)
(C) Charge RIGN (D) Voltage GEEINN
Examples of vestigial organ is :- 3T 3T T SRV & ?
(A) Birds wing Ul & 79 (B) Nictitating membrane ~ fHy&UCa
(C) Skeleton DHplel (D) Arm Ag D ol
How many compartments are there in Fish heart? #8ell & g5 # foha @87 81d & 2
A1 (B) 2 El
(©3 = (D) 4 EIN
Which disease is caused by Iodine deficiency in out diet? EAR 3MER H IS B BHT | FT BT € 7
(A) Goitre ~ TIIeX (B) Malaria  #ifRan
(C) Typhoid TE®RES (D) Diabetes AT
Which injection is required for diabetic patient? HgHz @ I AT oI o § ?
(A) Insulin ERsI (B) Thyroxin ATRTI R
(C) Estrogen T (D) Testosterone TRREH
Name ‘Gene’ was used in the year :- Ugell 9R 'S A &9 g1 77 ?
(A) 1709 (B) 1809
(C) 1909 (D) 2009
How many primary colours are there? Weifid 3 fa 81 8 ?
(A)1 h B)2
(©)3 GIR| (D)4 TR
In which part of human eye image is formed? g T3 & e WM W ufafde a+9ar g ?
(A) Cornea I+ (B) Iris aRaTReT
(C) Pupil  gofell (D) Retina  gficued
What is the cause of twinkling of stars? TR & feAfea™ &1 FRor @7 & ?
(A) Dispersion faergor (B) Reflection ENERE
(C) Atmospheric Refraction 3R 3 (D) Accommodation HHT
What is the main composition of compressed natural gas? —|®IfSd Wdftd I & I Gcdh 1§ ?
(A) Chlorine AR (B) Nitrogen IggIoM
(C) Methane  #i9F (D) CO, BTSRRI E
Name non-metal which is present in liquid state? , &l JETg DT T AR S 59 Faven § § ?
(A)C (B) Br
©OP D)S
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A solution turns blue litmus red, what is the pH of that solution % et el forem @1 ot ol § ?
IHHT pH RIT AT ?
(A)10 <4 B)4 TR
(€9 (D)11 TIRE
Which is functional group of ketone?, ~ HICH # THE SURYT BRI & ?
(A) - CHO B)C=0
(C) - COOH (D) - COOR
Amoeba reproduces by : 3T § T 21T §
(A) Binary fission &GS (B) Multiple fission dgEs
(C) Budding HpelT (D) Regeneration ~ G:¥qHdA
What is present in anther?, ]RIT®IN # 1d & ?
(A) Sepals CIRUEK (B) Ovary SN
(C) Ovule EISI| (D) Pollen grains WRRTHUT
Homo sapiens were originated in — EHNUIT BT 34T gl ZaTT ?
(A) Asia BRI (B) Europe M
(C) Australia g ferar (D) Aftica 3T
What is the example of artificial ecosystem? fmfeiRad # & @ Ebﬁﬂ uRReIfiaT T3 BT ITERT & ?
(A) Forest 9 (B) Pond  dTemd
(C) Lake B (D) Garden (T
What is the SI unit of resistance?, TR BT WSﬂ’s‘ I &
(A) Coulomb  @ci® (B) Ampere VR
(C) Volt dree (D) Ohm 3
What is the charge present on an electron?, $eldg W 3ATI &Il 8 ?
(A)1.6 x 10719 (B) 1.6 x 101
(C)1.6 x10718 (D) 1.6 x 1018
Tesla is S.I. unit of, ¢ {5 gaTs & ?
(A) Electric Flux [EEGRER (B) Magnetic Flux ECCARIEARCH]
(C) Electric Field faega &= (D) Magnetic Field ~ gd@m &=
Os conservation day is celebrated on ?, TSI FRET f3a¥T Fd FART ST & 2
(A) 16" September 16 RTa=R (B) 5" June 5 97
(C) 22™ April 22 e (D) 4™ October 4 AR
How many National Botanical gardens are in India?, ¥Rd # &0 Sl & 9@ ©
(A)83  dURRM (B)89  Tardl
(C)92  9Md (D)100 W
100. Tihri Dam is located on the river?, fagst Sty fooeg 91 W 977 8 7
(A) The Ganga BRIl (B) Krishna ~ @
(C) Narmada T (D) Satluj BREN

What are sources of DC (Direct Current) ?  f=foifRad # & o i o™ & &id 8 ?

(A) Dry Cell qed Al (B) Button Cell g7 da

(C) Lead Battery Sl (D) All of these ~ SWRIad T
Which part of brain is responsible for thinking?, = &1 &1 ARG BT DI AT AT Gl & 2

(A) Fore brain 37 #IRdwh (B) Mid brain &g AR

(C) Hind brain T¥d ARTwH (D) All of these  JWRIad F+Y

Which is present in teeth anamel ?, Sfdl & g9 ¥ ®IF 1 gl air 8 ?
(A) Magnesium Hydroxide #rrrm segemeize (B) Calcium Hydroxide &feram gggleage
(C) Calcium Chloride DfcaRM TANTES (D) Calcium Phosphate ®fe3R BT
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